Monthly averaged wind velocity by MF radar at Tromsoe for March 2009

North

mean sigma = 16.275

a o
o O

&
S

o
o

TR

i

Feg

20

o wmiut?mu

&
S o

o
o

© rrrrr

mean sigma = 17.724

3

a o
o O

o

o &
ISIR=)

© [rrrrIprrr

b

12 16 20 0
mean sigma = 19.661
100F ]
50 =
0f /\JMM%\W ——————— g
50 E
-100E E
0 8 12 16 20 0
mean sigma = 20.047
100F ]
50 =
= AR
-50F- E
-100E 3
0 8 12 16 20 0
mean sigma = 18.480
100F ]
50 -3
50 E
-100E E|
0 8 12 16 20 0
mean sigma = 19.310
100F E
50 3
50 E
-100E E
0 8 12 16 20 0
mean sigma = 18.027
100F E|
50 =
o .
-50 E
-100E E
0 8 12 16 20 0

S ¢
o

East

mean sigma = 17.796

o
o

n
(o2}
n
o

g
;
T
+
=
=
5

IS

8

mean sigma = 16.801

° \iﬁw

100F E|
Trtopal iy, ;
O |F V- A4 - - \,W,,,,~,,,,, ¥ IS I w . h
W 0 W\N\M
-0 E
-100E E
0 4 8 12 16 20 0
mean sigma = 18.333
100F E|
50 =
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 21.849
100F ]
50 =
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 20.202
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 20.480
100F ]
50 -3
oF g
-50F 4
-100E 3
0 4 8 12 16 20 0
mean sigma = 19.898
100F E|
50 3
-100E E
0 4 8 12 16 20 0
mean sigma = 21.919
100F E|
50 E
-50 E
-100E E
0 4 8 12 16 20 0

103km

100km

97km

94km

91km

88km

85km

82km



Monthly averaged wind velocity by MF radar at Tromsoe for March 2009
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